






Find the missing ONE (?)

VWA : 451 :: ? : ?

(A) ABC : 125

(B) ZAS : 819

(C) KLM : 234

(D) PQC : 683
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Find the option which should replace (?)

6 : 2 ::  8 : ?

(A) 1

(B) 3

(C) 5
(D) 7



Find the option which should replace (?)

17 : 4 ::  37 : ?

(A) 4

(B) 6

(C) 12

(D) 7



Find the missing ONE (?)

(A) 10

(B) 14

(C) 8

(D) 2
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Find the option which should replace (?)

GO : AA ::  NO : ?

(A) EE

(B) OO

(C) AA
(D) UU



Find the option which should replace (?)

(A) 184

(B) 160

(C) 120
(D) 250



Find the missing term(?)

PEMOURD : RNVRIFH :: FENDRAK : ?

(A) IVMGZIN

(B) IMVGIZN

(C) HMVGZIO

(D) IMVGZIP



Find the missing term(?)

2 , 3 , 9 , 49 , ? , 3841

(A) 385

(B) 685

(C) 458

(D) 565



Find the option which should replace (?)

(A) 34

(B) 40

(C) 49

(D) 53



Find out the alternative figure which contains figure (X) as its 
part.

(X) (1) (2) (3) (4)
A.1
B.2
C.3
D.4



Find number of squares in figure?

(A) 18 (B) 19

(C) 25 (D) 27



Arrange in meaningful order :
1. Orange

2. Indigo

3. Red

4. Blue

5. Green

6. Yellow

7. Violet

A. 5,4,2,1,3,6,7

B. 2,4,1,3,6,5,7

C. 7,1,2,3,4,5,6

D. 2,1,6,5,3,4



Arrange in meaningful order :
1. Orange

2. Indigo

3. Red

4. Blue

5. Green

6. Yellow

7. Violet

A. 5,4,2,1,3,6,7

B. 2,4,1,3,6,5,7

C. 7,2,4,5,6,1,3

D. 2,1,6,5,3,4,7 



Statement :-
The decrease in rainfall is the cause of crop failure ,” says the meteorologist.
Conclusion :-
Rain is necessary for the crop.
Irrigation is only dependent on rainfall.

बयान :- मौसम विज्ञानी का कहना है वक बारिश में कमी फसलकी विफलता का कािण है।

वनष्कर्ष: - फसल के वलए बारिश जरूिी है।

वसिंचाई केिल िर्ाष पि वनर्षि है।



Find the missing term(?)

RODE : 23 :: LANE : ?

(A) 16

(B) 17

(C) 22
(D) 20  



Which number will replace the question mark ?

(A) R (B) M
(C) P   (D) L

C E P

A D J

F C R

A H ?



In Which year 1872 calender will be repated ?

(A) 1900

(B) 2016

(C) 1912

(D) 1928  



G is the mother of B , C is the son of G, D is the 

brother of J , J is the daughter of B. Who is the 

grandmother of J?
G, B की मााँ है, C, G का पुत्र है, D, J का र्ाई है, J, B की पुत्री है, J की
दादी कौन है?
(A) B

(B) C

(C) G
(D) D



Find the odd one  (?)

(A) Sikkim

(B) Manipur

(C) Bihar
(D) Chennai  


